M. 8 .-24d

1. FEio| BF

+ &
2 A A9 $ g A
B =2 FE(%)
1998 34,689 33,502 97.0 30,313
1999 33,630 33,296 96.0 30,321
2000 35,717 33,881 94.9 30,121
2001 35,746 34,604 96.8 30,384
3} 9,166 8,958 97.7 5,120
A AE 1,609 1,466 91.1 1,440
kY 2,108 2,005 95.1 1,955
s Ak 1,884 1,897 100.7 1,894
£ A 3,362 3,248 96.6 3,127
5 9 1,687 1,607 95.3 1,582
5 o 1,254 1,246 99.4 1,216
5 A 1,789 1,521 85.0 1,510
A F 1,434 1,437 100.2 1,432
al  Ab 1,467 1,418 96.7 1.416
3 Ak 3,129 3,219 100.0 3,094
Ab o] 2,339 2,142 91.6 2,142
= v 2,419 2,387 98.7 2,372
kI 2,099 2,127 101.3 2,084
T F F 32 F 94 £
)

e e 979 | GAdAFY | SpiFed [HATeaed
1998 1,901 311 62 - 915
1999 2,161 311 62 ~ 942
2000 2,252 311 70 - 1,127
2001 2,764 311 70 2 1,073
3 F 2,685 273 53 - 827
AP A - - - - 26
3 A - - - 50
q A - - - ~ 3
£ A 30 8 - - 83
5 19 6 - - =
2 d - - 30
5 A - - -
A = - - 5
up A} - - B - 2
Ak 30 - - - 5
A} o] _ _ _ _ _
= - - - 7
3 - 16 8 - 35

s A Gt
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2. H&E3{I} ICORS)
T & A
ol N N
g%g A AZdgz | 24 = % = 71 &
> T 116 83 21 - 12
97
o A 92,044 85,135 3,427 - 3,482
5 T 93 56 20 1 16
98
A A 37,199 94,288 3,396 194 3,995
T 193 90 72 1 30
99
da A 68,440 56,592 7,446 161 4,241
3 F 97 83 12 1 1
20
A 68,468 64,577 3,286 396 209
s T 104 83 21 - -
2001
HAH X 44,007 35,796 8,211 - -
T T 7 4 3 - B
F A &
A 2,128 1,699 429 - -
T 5 8 8 = = -
FrAS
dw A 10,762 10,762 - - -
= T 12 9 3 - -
3394
QA 4,244 3,440 804 — -
= 3 59 46 13 - —
Ad &
A A 16,781 10,818 6,463 - -
5 1 1 - - .
3L 3L 8
[ (<] ()
oA 199 199 - - —
T T 2 2 . - -
¥ o &
o A 2,978 2,978 - - ~
N 3 3 . - -
AL 3] &
ik 2,037 2,037 ~ - -
T T 10 10 - - -
7 e}
A A 4,363 4,363 - - _
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HEBIH)

(29l 5)
T Al
od%ul N =
P A 283z | =24= | % = | 7 &
= 4 103 75 16 - 12
97
A A 88,194 82,046 2,666 - 3,482
5 F 69 41 17 - 11
98
oA 28,288 23,012 3,060 - 2,216
3 F 103 75 16 - 12
99
oA 88,194 82,046 2,666 - 3,482
5 ¢ 82 71 10 1 -
20
Sl s 61,675 59,141 2,138 396 -
5 T 70 51 19 - -
2001
HAH 29,881 22,185 7,696 - -
N 6 3 3 - -
(<) T
= Q.
T H (<)
g9 A 1,982 1,553 429 - -
= X 2 2 = = -
TR
B B 5,768 5,768 - - _
= & 8 5 3 - -
F3dE
oA 2,604 1,800 804 - -
X £ 47 34 13 - =
) T
Add 4
943 13,533 7,070 6,463 ~ -
T T 1 1 = . -
FFE
o A 199 199 - = ~
e &% 4 1 1 - - -
FUN 1LY (<]
a9 A 2,598 2,598 = - -
= XA
s T 1 1 - = =
A 3] &
o A 1,465 1,465 - - -
= 2 — —
() T 4 4 -
7] e}
a9 A 1,732 1,732 - - =

Az

2140543}
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(&1:8)

UESIHS)

i T m [ (I m ' ' _ ! [ I _ | | I _ i _ ! ! _ i i
—
~
M| . m [ _ [ ! ' ' [ [ _ | | | _ _ I [ | _ i | I I
W
N
—Av* fe} m (32 % n & N % N w0 N Te] | | | | | I | | I | | I I |
N &~ o = — by )
Gy =
=
M
L
X =
z?i.%SMMMSMB%.&WlMGWAAMBM__lmzmﬁﬂ
o lap) © a2} e} - ~t — l42) N}
)
[
m g8 gL grgILE gegrgag g e e g
o et o« & < © o < N o o e
= o oS o ) = ~ ~i o3 o
. Sl e o o Rl o Ol sl Gl B o
- B B B B [:2 B B B B B B B B
Mo | B | Mo | B | Mo | B | Mo | B | WO |B| o|TB| Wo|B| Mo|B|o|T| to|T| Mo|B| to|B| |z
_ g = go do do g g W
w5 3 3 ] E | x| # | R | ® | | A | &
™ = A -
B do K- Ao ™ <o o ahy % =

: 7191 A}3}

A5
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7
3. ohmE g (291:3)
T ¥ + = 4 7t 7

) = 2 | 7474 | 33m [ 33~66ni | 66~99ni [99~133nd |133~166nf |166~199n | 199ni

il el el el el ks ojgt | =gk ajut | w||gk
1688 7 563 - - 563 - - - -
. 2 313 = - 313 - - - ~
1558 1 64 - - 64 - - - -
1999 - - - - - - - - -
5068 2 143 - - 136 7 - - -
2001 ) . ) . ) ) ) )

OlME ZH&(H) (St9):5)

T+ =2 £ 4 7 F £

o) IO%U]‘:"_]_‘ 10~19% 20% °]"J’

ik F S| A Fx|lw F(AFE[E F[AFF
1996 - = 7 563 - -
1857 = — 1 83 1 230
1998 B - 1 64 - -
1999 h N - - " -
- 1 19 - - 1 124
2001 } } . } ) )

AR NQEALG F AR 71E
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4. EX|HeH {7 & 4l (E491:24, &)
-y = A A W s
g A 3 7t 3 %fgﬁ_;_z;% v !
g\ AF [ HFAAFFA 3 AF dA A F[HAHA[AF[HAH
1996 188 571 188 571 - - - - - =
1997 | 141 398 138 359 3 39 3 39 - -
1998 2 3 2 3 - - - - - -
1999 - - - - - - - - - -
2000 - - - - - - - ~ - -
2001 - - - - - - - - : -
EX| A &7t * A(H) (97, M)
e E A A #H A =
3 A = 9 4 X

ol A4y | dHA A4 | HA Ae | WA
1996 86 42 86 42 - -
1997 65 32 65 32 - -
1998 65 32 65 32 - ~
1999 = = - - = =
2000 - - - - - -
2001 - - - - - -

Az BAEAH
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5. EX|HHBHE (SH9): A, Hm)
78 £ T A g #H
= 3 7 = A A 3 F o
FAA 4 24 A9
94 A 5 | A A A £ | # A A 5 | #H A
1996 7,417 26,825 460 425 65 13
1997 7,080 16,595 762 493 74 41
1998 7,544 19,851 468 243 60 12
1999 7,323 19,135 491 131 49 27
2000 6,728 16,107 509 183 85 25
2001 6,101 15,935 550 138 70 16
EX|HNHE(H) (SH9): 24, Hnt)
T N B BB TAA NEE
= E A Tulx x =1
z9 A J =A A 9 %L of = Lﬂ B
sdd A s d A A £ 4dH A $£|49 A | A | 4dH F
1996 — - 292 442 — — 6,600 25,945
1997 7 10 108 795 = = 6,129 15,256
1998 i 10 323 4,127 13 96 6,673 15,363
1999 9 14 297 568 4 20 6473 18375
2000 3 2 207 297 - - 5,924 15,600
2001 5 8 345 477 - - 5131 15,296
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EX|HHHE(H) (S91:2, &)
= g A A = g
A = 4 A
A4 | 2 A =

il M A A A S["EA[A F[H A
1996 | 7417 26825 1,798 2,850 3,267 7,776 1,011 601
1997 | 7080 16595 1,637 2,659 2,825 5,894 1,384 739
1998 | 7544 19851 1,971 3,186 3193 6,403 1,056 406
1999 | 728 19113 2120 4,998 2,444 5,924 1,124 3,270
2000 | 6728 1,607 2,067 3,088 2,437 4,620 1,069 376
2001 | 6101 15935 1,640 2,468 2,147 4198 1,118 373

As  NLEAL

EX|HeHHE(H) (£91: 2, &)

T3 A 5 i
9 of LA 7l &

g A & [ w A A4 | o=\ oA A e [ W oA
1996 993 14,710 - - 348 888
1997 814 6,110 - - 420 1,193
1998 988 8,822 7 24 329 1,010
1999 1,080 3,079 16 23 502 1,819
2000 855 7,381 26 24 274 618
2001 801 8,382 11 22 384 493

A2 A 4BA



142

6. TAIAE(S=XS)

(2494 k)
T A
T ¥ A FgHA * = A XA ! =] k.

pil e & A =

ik 2 A ZAAE [daFA] F F A
1996 3157 4.36 - 4.25 0.11
1997 30.52 4.36 - 4.25 0.11
1998 30.52 4.36 - 4.25 0.11
1999 30.52 4.18 - 4.07 0.11
2000 30.52 418 - 4.07 0.11
2001 30.52 412 - 4.00 0.12
] 11.36 2.30 - 929 0.08
A A - - - - -
3 Ak 3.01 0.31 - 0.31 -
] A - - - - -
£ A 1.55 0.27 - 0.25 0.02
¥ 1.65 0.32 - 0.31 0.01
2 d - - - - -
% A 3.65 0.30 - 0.30 -
A= - - : - -
t!]- /\‘]_— _ _ _ _ =

At 5.30 0.34 - 0.33 0.01

/;l— o] _ _ _ _ _
o 4.00 0.28 ~ 0.28 -
3} 4 N . - = =

SAAE(BEXY) () ()l

T & ‘n = A

g A d A 9 x A o = A A 9

g x> A (9934 & A [ [E T A & A [AdsA[A4EA
1996 0.61 0.61 0.24 0.10 0.14 26.56 19.55 7.01
1997 0.61 0.61 0.24 0.10 0.14 26.56 19.55 7.01
1998 0.53 0.53 0.24 0.10 0.14 26.56 19.55 7.01
1999 0.53 0.53 0.24 0.10 014 - 2656 19.55 7.01
2000 0.53 0.53 0.24 0.10 0.14 25.57 18.66 6.91
2001 0.53 0.53 0.24 0.10 0.14 25.63 18.73 6.90
| 0.26 0.26 0.19 0.10 0.09 8.61 7.25 1.36
A AE - - = = = — - =
3 Ak 0.04 0.4 - - - 2.66 1.66 1.00
] AF - - = = - - = -
+ A 0.03 0.03 - - - 1.25 0.92 0.33
= ¥ 0.01 0.01 0.05 - 0.05 1.97 0.97 0.30
2 o - = - - = = - =
5 A 0.05 0.05 - - - 3.30 1.64 1.66
A = - - - - - - - -
u]- /\11- _ _ _ _ _ _ _ _
B A 0.02 0.02 - - - 4.94 3.82 1.12
/\L} o] _ _ _ _ _ _ _ _
M 0.12 0.12 = = - 3.60 2.47 113
3 « - - ~ - - . - -

A= A G
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.3 @ (912 )
ERE 2 A(A+B A 4 3 0«

gl ° I¢ ) Al (A) =334

ik A e | 4 A A & q A A & | & A
1996 26 35,090 1 33,390 1 33,390
1997 26 35,090 1 33,390 1 33,390
1998 26 35,090 1 33,390 1 33,390
1999 28 35,091 1 33,390 1 33,390
2000 27 35,072 1 33,390 1 33,390
2001 26 35,090 1 33,390 1 33,390
3 13 1,095 = - - -
A A 1 33,390 1 33,390 1 33,390
3 A 1 302 - - . -
z‘ﬂ A\_}_— _ _ _ — = _
< A 3 88 - = = =
= 9 3 26 = - _ _
5 4 - - = - - =
5 A 1 59 - - - -
A= - - - = : .
u]_ /\1} _ _ _ _ _ _

Ak 3 15 = = = -

A‘_}_- o] _ _ _ _ _ _
= 1 115 - - - -
3 49 - - - - - -

AAg A AL

- '?'._J('/%\—) (=& m)

F ¥ = A ¥ 4

s A (B) o]z 33 EAAE T

ik Aae [ AA [Aas "4 [Aae [ "dd [ Az 94
1996 25 1,700 15 26 8 705 2 969
1997 25 1,700 15 26 8 705 2 969
1998 25 1,700 15 26 9 590 3 1,084
1999 25 1,700 15 26 7 590 3 1,084
2000 26 1,681 16 28 7 586 3 1,067
2001 25 1,700 15 26 7 590 3 1,084
3 13 1,005 9 16 2 110 g 969
A Ak - - - - - - - -
51 Ak 1 302 - - 1 302 - -
dq Ak = . = - - - - -
£ A 3 88 2 3 1 85 - -
¥ ¥ 3 26 2 3 1 23 - -
5 4 - - - - - - - -
< A 1 59 - - 1 59 - -
A F - - - - - - = -
u]— /\\l— _ _ _ _ _ _ _ _
Z A 3 15 2 4 1 11 - =
A} o] _ _ _ _ _ _ _ _
= 1 115 - - ~ - 1 115
3 - - - - - - - -

At A G



8. o A (421 kn)
E FA 4 H F 49 (]
$ it_}\ 7 -)‘\—) L, 70 -2 7 !T:

%é} LA 7] A 4 al A4 | HEE(%)
1996 29 162.31 232.20 117.05 115.14 50.4
1997 29 162.31 232.20 232.20 113.98 50.9
1998 29 162.31 232.20 119.03 113.17 51.2
1999 29 162.31 232.20 127.00 105.20 54.6
2000 29 162.31 232.20 132.08 100.12 56.8
2001 29 162.31 232.20 132.08 100.12 56.8
3 3 16.58 28.00 - - -
A Ab 4 29.15 30.35 - - -
3 At 1 6.75 9.19 - - -
] Ab 5 33.90 53.56 - - -
£+ A 2 11.87 16.16 - - -
B 9 1 2.83 3.85 - - -
5 4 3 10.60 14.44 - - -
< A 3 21.39 28.25 - - -
A F 5 23.10 40.04 - - -
ul  Ab 2 6.14 8.36 - - -

/\‘l— _ _ _ _ _ _
A‘l- o] _ _ _ _ _ _
= Y - - - - - -
3 4 - = = = = -
A AT
9. SIHFXHE (S19): i, &2
T o I

SR ALt T

b A = A3
1996 347 221,964 53,114 145,298 19,063
1997 348 222,304 53,114 145,571 19,063
1998 123 79,497 19,079 51,673 6,837
1999 837 268,874 70,040 102,870 82,831
2000 841 272,874 70,040 106,870 52,831
2001 116 99,236 10,585 79,772 -
3 3 11 12,697 1,193 11,353 -
A Ab 46 26,520 374 23,554 -
3 A - - = - -
3 Ak 22 11,891 1,288 10,566 -
£ A - - - - -
2 3 - - - - -
2 o 4 989 - 739 -
2 A 12 11,156 - 5,614 -
A = 17 27,589 7,730 19,787 -
a} Ak 4 8,394 - 8,159 -

/\\1— _ _ _ _ _

A\l— o] _ _ _ _ _

—E— - - - - =

31 - - - - .
Asw A3}
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SIMEXHE(H) (E49):d, BRI
T X EARF AL & 5 A 4)
)

] s (n1) = A 3 %
1996 4,484 9,158 9,158
1997 4,556 9,160 9,160
1998 1,908 1,367 1,367
1999 13,133 409,970 409,970
2000 13,133 413,170 413,170
2001 8,879 3,996 3,996
3 151 558 558
A Al 2,592 1,084 1,084
3 Ak = - -
¥ A 37 451 451
%+ A - - -
¥ 3 - - =
¥ 4 250 40 40
< A 5,542 422 422
e 78 1,082 1,082
ap Ak 235 359 359
5 A‘l- = - -
/\‘l- o] _ - -
= W - - -
3 o - - - -

Az A

10, £ £ (=Hl:m,m %)

T2 & A
293 2] = &

sy 4 A | 4 A 4 A | #H A x A &
528,553 - 390,253 - -

528,553 - 393,053 -

528,553 - 396,153 -

509,863 - 348,663 -

498,353 - 371,653 -

3 29,517 - 15,417 -
A} 26,002 - 22,402 -
A} 25,428 - 22,728 =
A} 30,240 - 27,640 -
=] 54,300 - 32,200 -
| 25,843 - 25,843 =
3| 22,000 - 22,000 -
A 30,188 - 25,888 =
= 22,175 - 20,975 -
A} 43,020 - 34,920 -
A} 66,530 - 44,730 =
o] 36,700 - 18,500 =
! 42,410 - 20,410 -
] 44,000 - 38,000 -

N
™
)
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= 2(K) " (E2f:mnt %)
8 & A N

23 e z ==

k! 42 [ 94 e [ =
1996 141,600 - - -
1997 138,000 - - -
1998 107,600 - - -
1999 104,500 - - -
2000 125,200 = - -
2001 126,700 - - -
3 14,100 - — -
A AL 3,600 - — -
3 A 2,700 - - -
8 A 2,600 = - _
£ A 22,100 = - _
5 3 = = - -
= d - - - =
£ A 4,300 - ~ -
A F 1,200 = - _
np b 8,100 . - -
5 Ak 21,800 - _ ~
Ab o] 18,200 - - _
Y 22,000 - - =
3 9 6,000 - -

Ag AT

= 2(% (E12l:m.nt %)

S o ly = =

e A E3 Z

S a A | = A d F | A A A E
1996 90,253 - 90,253 = 100.0
1997 90,253 - 90,253 = 100.0
1998 90,253 - 90,253 - 100.0
1999 90,253 - 90,253 ~ 100.0
2000 90,253 - 90,253 ~ 100.0
2001 171,153 - 158,853 - 92.8
q 3 12,317 - 12,317 ~ 100.0
AF A 4,402 - 4,402 = 100.0
3 Ak 19,228 - 16,528 - 86.0
] A 15,440 - 12,840 = 83.2
£ 23,500 - 17,700 - 75.3
2 3 16,443 ~ 16,443 - 100.0
¥ - - - - -
< A 13,688 — 13,688 - 100.0
A = 8,375 - 8,375 - 100.0
a}  Ab 4,920 - 4,920 - 100.0

AF 25,330 - 25,330 - 100.0

A} o] - = = - -
2 Y 14,410 - 14,410 = 100.0
3} 4 13,100 - 11,900 - 90.8

A& A
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A
= 2(H) (=9im,nd %)
2 o uk = = A W =

Sk S A E3 =

ooy d 2 | # A da F | #A A d »Z | &H A
1996 - - 193,700 161,100 =
1997 - - 192,000 160,200 -
1998 - - 192,800 160,200 ~
1999 - - 192,800 160,200 -
2000 - - 174,110 146,710 =
2001 12,300 - 90,800 69,300 -
8 3 - - 3,100 3,100 -
AFAF - - 7,000 7,000 -
3 Al 2700 - = - -
q A 2,600 - - - -
2 X 5,800 - - - =
2 3 - - 5,100 5,100 -
2 g - - 11,100 11,100 -
< A - - 2,000 2,000 -
A = - = 7,500 7,500 -
o} Ab - - 17,600 12,400 -
5 A - - 8,800 3,400 -
AF o] - - 26,400 15,500 -
_E_ - = - — =,
3} o 1,200 - 2,200 2,200 -

Aw A3

AL

= 2(5 (El:mt %)

o) z A 0 = A A

o A F d F | &#A A 4 A | 4 A
1996 83.1 32,600 - 245,500 =
1997 83.1 32,600 - 245,500 —
1998 83.1 17,800 - 245,500 -
1999 83.1 17,800 - 245,500 =
2000 84.3 27,400 - 245,500 -
2001 76.3 21.500 - 236,400 -
S 100.0 - - 14,100 -
Ab oAb 100.0 - - 14,600 -
5l AL - - - 6,200 -
3 A - - - 14,800 -
Fu - - - 30,800 -
2 3 100.0 - - 4,300 -
x g 100.0 - - 10,900 -
< A 100.0 - - 14,500 -
A = 100.0 - - 6,300 -
o} Ak 705 5,200 - 20,500 -
s Ab 38.6 5,400 - 32,400 -
AF o] 58.7 10,900 - 10,300 -
z - - - 28,000 -
3} 9 100.0 - - 28,700 -
(5=

A
™
-

N



A
= 2(& (SHSlim,md %)
TR < =
Qg x A o = F
| a4 A | = = A qd # | o A
1996 136,500 - 55.6 - -
1997 139,800 - 56.9 - -
1998 142,600 - 58.6 - -
1999 145,700 - 59.3 - -
2000 147,700 - 60.2 97,800 -
2001 143,500 = 60.7 92,900 -
3 - - - 14,100 -
AF A} 11,000 - 75.3 3,600 -
3 A 6,200 - 100.0 - -
& Ab 14,800 - 100.0 - -
£ 7 14,500 - 47.1 16,300 -
2 9 4,300 - 100.0 - -
2 g 10,900 - 100.0 - -
< A 10,200 - 70.3 4,300 -
4 = 5,100 - 81.0 1,200 -
a}  Ab 17,600 - 85.9 2,900 -
s Al 16,000 - 49.4 16,400 -
AL o] 3,000 - 29.1 7,300 -
=y 6,000 - 21.4 22,000 -
3 4 23,900 - 83.3 4,800 -
Aw A}
10-1 EE2A|ME (E42:m, i )
]:'L = & A = Y e
TN 22 3= |4 2la 2w |00
1996 - - - - - - -
1997 - - - - - - -
1998 - - - - - - -
1999 - - - - - - -
2000 - - - - - - -
2001 2 1,210 24,000 2 1,210 24,000 -
8 3 g 1,210 24,000 2 1,210 24,000 -
/g 1;1- - - - — - - _
i} A‘l- - - - - = - _
iﬂ /\L} - - = = = - _
% A - = = = - = -
= 9 - - = = = - -
5 4 . = = = - - -
< A = = = - - = ~
q = = = - - - - =
u]. };l- - - - - - - =
)ﬂ. - - — - - - =
/\‘l— o] - — - - - = =
_ET_ - -~ — - =, = =
31 4 - = ~ ~ - - =
t=

N

Y,
e
)



149

A

1. % (H4:m)
T B & Al d ¥ ZF = A ¥ =

g 7t A A 7t A

S NAa | 4# Na | a9F Na& | a9
1996 50 1,481.6 17 507.6 19 593.3
1997 57 1,804.3 17 529.5 25 865.8
1998 57 1,804.3 17 529.5 25 865.8
1999 57 1,804.3 17 529.5 25 865.8
2000 58 1,849.7 17 529.5 25 865.8
2001 77 2,996.8 31 1,480.2 16 560.2
i F 8 683.8 6 509.7 1 19.0
A Ab 4 269.3 1 87.4 3 181.9
3 Ak - - - - - -
¥ Ab 8 262.1 3 115.1 - -
£ A 11 338.5 3 92.0 - -
= 9 3 228.2 1 180.2 i 26.0
4 6 172.6 ~ - 2 60.0
s A 19 598.3 10 375.3 2 54.2
- 9 246.5 3 50.5 4 128.0
al Ak 6 133.5 g 24.0 3 91.1
3 At 1 22.0 1 24.0 - -
}ﬂ- o] _ _ _ _ _ _
= 9 1 18.0 - - - -
3 1 24.0 24.0 - -

o (%) (Et2l:m)

5 = S7HA LA = A+ = =oEEE

) 7} A 7 A 7F A

ik WEY R NAa | 49A YR
1996 — = 14 380.7 - -
1997 - — 15 409.0 - -
1998 - = 15 409.0 - -
1999 = - 15 409.0 - -
2000 - = 16 454.4 - -
2001 - - 16 454.4 14 502.0
3 - - - - 1 155.1
A AE - - - - - -
§]. A‘_}_- _ _ _ — _ _
qd A = - 3 81.0 2 66.0
+ A - - 7 221.0 1 25.5
5 ¥ - - 1 22.0 - -
¥ 4 - - 1 48.0 3 64.6
< A - - 2 46.0 5 122.8
A = - - - - 2 68.0
a} Ak - - 1 18.4 - -

/\‘l- _ - — — _ _

/{1- o] _ _ - _ — _
M - - 18.0 - -
3 - - - - -
{2

I
ot
X
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12, ZAAZH| (t2!:H)
3
» g A |E=oA | 24 | 299 | AAR |[F=zEeY | 7|F7] (2l | &3
a
1996 603 15 268 29 68 137 g - 4
1997 732 20 343 28 72 173 3 - g
1998 754 16 357 28 82 171 5 - -
1999 807 17 405 33 81 157 6 - 3
2000 759 13 394 29 74 148 6 - 2
2001 798 1 386 32 81 166 10 = 5
A FH|(F) (S94:TH)
=7 o 2329 = o =¥ B
- A7) | 3eE7) | A3
d AzPde AMEZYH | FPX FUA | Ax7]
1996 - 60 4 - 1 1 9 5
1997 - 64 7 - - g 12 6
1998 - 65 7 - - 4 13 6
1999 - 74 11 - - - 14 6
2000 - 69 6 - - - 13 5
2001 = 78 9 - = - 13 7

Az AL



